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(1) 443=7,34+4=T1;

(2) 242=4,2+2=4,

(3) 1+2=3,24+1=3,2+1=3,

(4) 7T4+5=12, 54+ 7 =12,

(5) 44+8=12, 9+ 3 =12,

(6) 3+5=5+3=8,5+4=4+5=09,
(7) 7+3=4+6=10,

(8) 24+4=6,6+6=12

HEDorE (FE) & LTERORMPER 2,
NEUT & AL, AN X 2Tk I 1S,

(1)5X6_3 6X5 3
475 27574 2’
(2)9 10 5 10><9—5
8 9 4> 9 78 4’
(3)16X9_6 9X16_6 10 16 32
_ 158 5’8 715 579 15 27’
(4)3><4—2 4><3—2
273 77372 7
5 8 5 6
5) S X - =2, - X — =2
()4 5 v 3% 5 ,
6 4 4 6 8 4 5 5 4 5
6) - X-=-X—-==, o X=-==X—-=—,
5 3 35 5374 473 3
(7)3X32_16 5_ 64 16
2727 9’47 45 9"’
9 5 45 45 64
(8) X =iy o X =2
8 "4 32,7 327 45

(1) E3JE + RiskE = 5845, Ri3lE + K3/ = 5%ea5)E,
(2) &% + & = R,

(3) hiF + &Y = & + B = M3E,

(4) 5845 + eAalE = BAe4E + SEe5lE = 8fE,

(5) K3JE + RielE = 8J%, JK6J¥ + M3JE = 8)¥,

(6) Bi3PE + 5uA4)E = K6k, 5ealE + K3 = JRe6JE,
(7) SeAE5EE + RI3NE = K3JE 4 WsIE = RiTE

(8) (R)&T + B3l = WjaJE, Wa)¥ + sl = 8)E
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